
Install Guide

ACC-MNT-REC-1
Recess Ceiling Mount

Verkada Inc. 406 E. 3rd Ave, San Mateo, CA 94401
sales@verkada.com

All specifications are subject to change without notice
Copyright © 2023 Verkada Inc. All rights reserved. 

mailto:sales@verkada.com


Introduction

What’s in the box

What you’ll need

● A Verkada Indoor Dome Camera
● A T10 Torx Security Screwdriver
● A #2 Phillips screwdriver or power drill 

with a #2 Phillips driver bit
● A utility knife

Compatible products

For a list of compatible products, 
please visit: 

https://docs.verkada.com/docs/
accessories-overview.pdf 

2 Verkada Inc. 406 E. 3rd Ave, San Mateo, CA 94401
sales@verkada.com

All specifications are subject to change without notice
Copyright © 2023 Verkada Inc. All rights reserved. 

Recess Ceiling Mount 
Cover

Recess Ceiling Mount 
Bracket

Hole Cutout Template

M4x0.7 Machine Screw (4 pcs)
Length: 8mm  Drive: #2 Phillips

M4x0.7 Machine Screw (4 pcs)
Length: 14mm  Drive: #2 Phillips

From pole mount

https://docs.verkada.com/docs/accessories-overview.pdf
https://docs.verkada.com/docs/accessories-overview.pdf
mailto:sales@verkada.com


Overview

3

Introduction

Verkada Inc. 406 E. 3rd Ave, San Mateo, CA 94401
sales@verkada.com

All specifications are subject to change without notice
Copyright © 2023 Verkada Inc. All rights reserved. 

Recess Ceiling Mount 
Cover

Verkada Indoor 
Dome Camera
(Sold separately)

Mount plate
(Sold separately, 
with camera)

Recess Ceiling Mount 
Bracket

Order of assembly:

Ceiling
Up to 50mm
thickness

mailto:sales@verkada.com


Disassemble camera by undoing 
the T10 security screws and remove 
the top cover.

Loosen the thumbscrews to 
separate the camera from its 
mount plate. 

Attach the camera mount plate to 
the Recess Ceiling Mount Bracket 
using the provided M4 screws. 

Mounting (1/3)

4

Installation

Verkada Inc. 406 E. 3rd Ave, San Mateo, CA 94401
sales@verkada.com

All specifications are subject to change without notice
Copyright © 2023 Verkada Inc. All rights reserved. 

Chengfu to 
update render

mailto:sales@verkada.com


Mounting (2/3)

5

Installation

Identify the desired mounting 
location on the ceiling and 
adhere the Hole Cutout Template.

Cut a hole, following the outline of 
the template, using a utility knife.

Bring the Ethernet cable through 
the hole.

Thread ethernet cable through 
mounting bracket and camera 
mount plate.

Tighten screws (circled in blue) 
using a #2 Phillips driver to clamp 
the mounting bracket into the 
ceiling.

Verkada Inc. 406 E. 3rd Ave, San Mateo, CA 94401
sales@verkada.com

All specifications are subject to change without notice
Copyright © 2023 Verkada Inc. All rights reserved. 

mailto:sales@verkada.com


6

Installation

Verkada Inc. 406 E. 3rd Ave, San Mateo, CA 94401
sales@verkada.com

Mounting (3/3)

All specifications are subject to change without notice
Copyright © 2023 Verkada Inc. All rights reserved. 

Connect the ethernet cable to 
the camera, then attach the 
camera to its mount plate and 
tighten thumbscrews with a #2 
Phillips screwdriver. 

Reattach the top cover to the 
camera and tighten the T10 
screws.

Align the T10 security screw hole 
on the plastic cover with the 
blue indicator on the mounting 
bracket, and twist to lock the 
cover. 

Tighten the T10 security screw 
on the plastic cover. 

These tabs are for twist and lock, could show 
this additionally as well

Can mention match security hole with blue 
triangle sticker, for easy alignment then twist 
and lock

mailto:sales@verkada.com


Appendix

Support

Thank you for purchasing this Verkada product. If for any reason 
you're experiencing issues or need assistance, please contact our 
24/7 Technical Support Team immediately.

Sincerely, 
The Verkada Team
verkada.com/support

7 Verkada Inc. 406 E. 3rd Ave, San Mateo, CA 94401
sales@verkada.com

All specifications are subject to change without notice
Copyright © 2023 Verkada Inc. All rights reserved. 

https://verkada.com/support
mailto:sales@verkada.com

